Note: 1. Answer any FOUR full questwns from Q.No.1I to Q.N

2. Question No. 8 is compul&aﬁy

3. Time value table is perm

iffed,

4. M : Marks, L: Bloom levéw C: Course outcomes.

Tﬁ?‘f@

Max. Marks:
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Q.1 | a. | What do you mean by Fmanmal%aﬂagement? 3 | L2|CO1
b. v 7 | L4 | CO2
him two post retlremen% opt bns & ey
i) 20,00,000 lump sym: i) 2,50,000 for 10“’“y S.
Assuming 10% mteres which is a better option. g’
c. gows Rs 10,00,000 at tl eﬁrate of interest 15% p.a. The | 10 | L4 | CO4
( 5 equal Annual 1nstalme } pald at the end of each year.
Q2 [a | W | L2 | CO1
b. Dlscuss the factors determmm% v&ﬁ?kmg cap1ta1 L3 | CO2
c. | Explain in detail the Indlarx Einancial System. L4 | CO4
Tm%r & ‘Y L
Q.3 | a. | Whatis CAPM? o 3 (L2 CO1
r i
b. | Pentagon Ltdw,ﬁtﬁ ‘évaluating a prOJect fhat has the followmg cash flow |7 | L5 | CO3
stream associated with it. , p
Year . 1 6
sh flow (Rs in millions) J« - 80 120
The co%‘kof capital is 15%. You are required tof%ca"’lculate the Modified
10 | L4 [ CO4
Q4 | a. | Whatisan Operaﬁ?g Cycle? 3 |L2]|cCoO1
b. | The followmé%lformatlon is avall 12} le ‘in respect of a product : 7 | L3 | CO2
W [Thissd s . 1,80,000
Unit sales price : Rs5
Fixed cost : Rs 2,40,000
Variable cost per unit | : Re 1
) Tax rate . 50%
by, -10% Debt capital Rs 6,00,000
Calculate Op%%g g Leverage , Financial and Combined Leverage
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A Company is considering an investment proposal to i
controls at a cost of Rs 50,000. The facility has a life ex@& tancy of 5 years
and no salvage value. The tax rate is 35%. Assume(the, firm uses straight
line depreciation and the same is allowed for ta&pmﬁ&es. The estimated
cash flows before depreciation and tax (CFB% om the investment
proposal are as follows : M,
Year 1 2
CFBT (Rs) | 10,000 | 10,692 |- 2,769
Compute the following : i) Pay back period

ii) Accounting Rate of Return Lgiii)‘%p NPV at 10% discount rate. »

%3 . [ r 4 3
13,462 | 20,385

10 | LS | CO3

QS5

What is Financial Engineering
s PN 4

COo1

a
A Company has 10% @i‘p@tual Debtor Irredeemalg}&;;ﬁ“gbt of Rs 1,00,000.
The tax rate is 35%. Detérmine the cost of capitalg{ﬁef&fe tax and after tax)
assuming the debt is issued at i) par ii) 10%discount
iii) 10% premiume; ¢

CcO2

From the follgv%‘xg data, compute the c{gra@fbn of the operating cycle for
each of thie two years : o
e Particulars ..
Stock of Raw Materials’
WIP & 3
Finished goods,
Purchases <5,
Cost of goods sold
Sales ..
Debtors 50,000 |
Creditors 16,000 | 18,000,
Assume 360 daysper year for computational purposes.

o i

@ &

12.00,000

10 | L4 | CO4
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Q.6

What i§ IRR?

3 | L2 Co1

Briefly explain the emergingrole of Finance Manager.
it « &
N

.

7 |L3 | CO2

. I'each type of capital;

. Type of capital | Book value | Market value | Specific cost (%)
Debt o+ & 4,00,0001+3,90,000 5
Preferefic 1,00,000 , | 1,10,000 8
Equity 6,00,000 15
Retained Earnings | 2:00,000 } 12,0000 13

N 1%000 16,90,000

<A Company has %n,:£t,§g&500ks the follo“%fég amounts and specific costs of

Determine the weigh%gfaVerage cost of capital using i) Book value
weight ii) Market value weights.
How are they different? Can you think of a situation where the weighted

average cost féap@ﬁal would be the same using either of the weights?

10 | L4 | CO4
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Q.7 | a. | What do you mean by Capital Budgeting? 3 |L2|CO1
b. | Explain the types of derivatives. » ’ 7 |L3 | CO2
g W
c. | India Ltd., is capitalized with Rs 10,00,000 1v1deﬁ into 1,00,000 equity | 10 | L4 | CO4
shares of Rs 10 each. The managernent ]"*ﬁdesues to raise another
Rs 10,00,000 to finance a major expanﬂon programmes There ax;e 4
possible financial plans. %@*
i)  All equity shares i) All &ebentures carrying 8% interest..
iii) Rs 5,00,000 in equity shares and«%@ 5,00,000 in debentures carrylng
10% interest.
iv) Rs 5,00,000 in equity shares::
shares. ot
You are required to calculate EPS if the EBIT of Rs 4,80 OOO
I~ S CMRIT LIBRAKY
o & %} , BANGALORE - 560 037
Q.8 | CASE STUDY - (Compuls J b’ 20 | L4 | CO4

i i
1:8) Cash at Banks j ﬁﬁ Kp

While preparing qﬁzro_] t report on behalf of 4. clwnt you have collected the

following facts, Esjlm%te the Net Working capltal"ifequlred for that project. Add
10% to your com computed figure to allow cont1ngenc1es

E@rtim“ﬂars Per Unit (Rs)
““:Raw Materials €y SQDO
Direct Labour o .. 430,00
Overheads - 50.00
(exclusive of Depr ciation, Rs 10 per Umt{) ;gk
Total cash cost & 1~ |7 170.00
Profit ¥ 30.00
Selling p% 200.00"
Additional Infonglatla@f %w

1) Levelof act“‘\a;y 1,04,000 units “p;;oductlon per annum, .
2) Raw mater@;als in stocks, average weeks. e
3) Workin progress (assume 50% completion stage in pect of conversion

costs and 100% completion Th respect to materials)y.average 2 weeks.
4) Finished goods in stock aVeg&ge 4 weeks.
5) Credit allowed by sugp*h rs-4 weeks. ey
6)%. Credit allowed to debtgtg@, average 8 weeksmﬁ
) - Lag in payment of Wages, average 1.5 weeks.

cted to be Rs 25,000.

You may assume that production is &gﬁ‘ arried on evenly through out the year
(52 weeks) and“W&ges and overheads accrue similarly. All sales are on credit
basis only. W’

% de % % %
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